
問）α = cos 1
33
π× cos 2

33
π× cos 4

33
π× cos 8

33
π× cos16

33
πの値を求めよ。

両辺に 2sin 1
33
πを掛けてみよう。

2sin 1
33
π×α = 2sin 1

33
π× cos 1

33
π×cos 2

33
π×cos 4

33
π×cos 8

33
π×cos16

33
π

2sin 1
33
π×α = sin 2

33
π× cos 2

33
π× cos 4

33
π× cos 8

33
π× cos16

33
π

sinの２倍角を連続して使って、cosを sinに替えていく。

4sin 1
33
π×α = sin 4

33
π× cos 4

33
π× cos 8

33
π× cos16

33
π

8sin 1
33
π×α = sin 8

33
π× cos 8

33
π× cos16

33
π

16sin 1
33
π×α = sin16

33
π× cos16

33
π

32sin 1
33
π×α = sin32

33
π

sin 1
33
π = sin32

33
πなので、

求める αの値は、　 α = 1
32
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